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Proposed by Daniel Sitaru – Romania  

Solution 1 by proposer 

𝛀 = ∫
𝟏 − 𝐥𝐧 𝒙

𝒙𝟐 + 𝐥𝐧𝟐 𝒙

𝒆

𝟏

𝒅𝒙 = ∫
𝟏 − 𝐥𝐧𝒙 + 𝟏 − 𝐥𝐧 𝒙

(𝒙 − 𝐥𝐧𝒙)𝟐 + (𝒙 + 𝐥𝐧𝒙)𝟐

𝒆

𝟏

𝒅𝒙 = 

= ∫
𝒙 − 𝐥𝐧 𝒙 + 𝟏 −

𝐥𝐧𝒙
𝒙 − 𝒙+ 𝟏 − 𝐥𝐧 𝒙 +

𝐥𝐧 𝒙
𝒙

(𝒙 − 𝐥𝐧 𝒙)𝟐 ⋅ (𝟏 + (
𝒙 + 𝐥𝐧𝒙
𝒙 − 𝐥𝐧𝒙)

𝟐

)

𝒆

𝟏

𝒅𝒙 = 

= ∫
(𝟏+

𝟏
𝒙)

(𝒙 − 𝐥𝐧𝒙) − (𝒙 + 𝐥𝐧 𝒙) (𝟏 −
𝟏
𝒙)

(𝒙 − 𝐥𝐧𝒙)𝟐

𝒆

𝟏

⋅
𝟏

𝟏 + (
𝒙 + 𝐥𝐧𝒙
𝒙 − 𝐥𝐧𝒙)

𝟐𝒅𝒙 = 

= ∫
(
𝒙 + 𝐥𝐧𝒙
𝒙 − 𝐥𝐧𝒙)

′

𝟏 + (
𝒙 + 𝐥𝐧𝒙
𝒙 − 𝐥𝐧𝒙)

𝟐

𝒆

𝟏

𝒅𝒙 = 𝐚𝐫𝐜𝐭𝐚𝐧 (
𝒙 + 𝐥𝐧𝒙

𝒙 − 𝐥𝐧𝒙
)|

𝟏

𝒆

= 

= 𝐚𝐫𝐜𝐭𝐚𝐧 (
𝒆 + 𝟏

𝒆 − 𝟏
) − 𝐚𝐫𝐜𝐭𝐚𝐧 (

𝟏 + 𝐥𝐧𝟏

𝟏 − 𝐥𝐧𝟏
) = 𝐚𝐫𝐜𝐭𝐚𝐧 (

𝒆 + 𝟏

𝒆 − 𝟏
) −

𝝅

𝟒
 

Solution 2 by Marin Chirciu-Romania 

𝛀 = ∫
𝟏 − 𝐥𝐧 𝒙

𝒙𝟐 + 𝐥𝐧𝟐 𝒙

𝒆

𝟏

𝒅𝒙 = ∫

𝟏 − 𝐥𝐧𝒙
𝐥𝐧𝟐 𝒙

(
𝒙

𝐥𝐧𝒙)
𝟐

+ 𝟏

𝒆

𝟏

𝒅𝒙 = ∫
−(

𝒙
𝐥𝐧𝒙)

′

(
𝒙

𝐥𝐧𝒙)
𝟐

+ 𝟏

𝒆

𝟏

𝒅𝒙 = −𝐚𝐫𝐜𝐭𝐚𝐧
𝒙

𝐥𝐧𝒙
|
𝟏

𝒆

= 

= −(𝐚𝐫𝐜𝐭𝐚𝐧
𝒆

𝐥𝐧 𝒆
− 𝐚𝐫𝐜𝐭𝐚𝐧

𝟏

𝐥𝐧 𝟏
) = −(𝐚𝐫𝐜𝐭𝐚𝐧 𝒆 −

𝝅

𝟐
) =

𝝅

𝟐
− 𝐚𝐫𝐜𝐭𝐚𝐧 𝒆. 

Remark. 

In the same way. 
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Solution  

𝛀 = ∫
𝟏 − 𝐥𝐧𝒙

𝒙𝟐 − 𝐥𝐧𝟐 𝒙

𝒆

𝟏

𝒅𝒙 = ∫

𝟏 − 𝐥𝐧𝒙
𝐥𝐧𝟐 𝒙

(
𝒙

𝐥𝐧𝒙)
𝟐

− 𝟏

𝒆

𝟏

𝒅𝒙 = ∫
−(

𝒙
𝐥𝐧𝒙)

′

(
𝒙

𝐥𝐧𝒙)
𝟐

− 𝟏

𝒆

𝟏

𝒅𝒙 = −
𝟏

𝟐
𝐥𝐧 |

𝒙
𝐥𝐧𝒙 − 𝟏

𝒙
𝐥𝐧𝒙 + 𝟏

||

𝟏

𝒆

= 

= −
𝟏

𝟐
𝐥𝐧 |

𝒙 − 𝐥𝐧𝒙

𝒙 + 𝐥𝐧𝒙
||

𝟏

𝒆

= −
𝟏

𝟐
𝐥𝐧 |

𝒙 − 𝐥𝐧𝒙

𝒙 + 𝐥𝐧𝒙
||

𝟏

𝒆

= −
𝟏

𝟐
(𝐥𝐧

𝒆 − 𝐥𝐧 𝒆

𝒆 + 𝐥𝐧 𝒆
− 𝐥𝐧

𝟏 − 𝐥𝐧𝟏

𝟏 + 𝐥𝐧𝟏
) = 

= −
𝟏

𝟐
(𝐥𝐧

𝒆 − 𝟏

𝒆 + 𝟏
− 𝐥𝐧𝟏) = −

𝟏

𝟐
𝐥𝐧

𝒆 − 𝟏

𝒆 + 𝟏
=
𝟏

𝟐
𝐥𝐧

𝒆 + 𝟏

𝒆 − 𝟏
 


